SUPRPER GAINER

144/430/ 1200MHz# S FIF 3/ FE—ELTTF

SG91OOM(M%3*79—)
SGQ"OON (NFa%o5—)

LE—F - B (BEE R HEER)

DIAMOND

ANTENNA

A mEEERyTRIEF (RBAHEEHE14125705)

[EUREEEE

IOV ER—/N=T A F—&aEEVROWVIIZEZELTHICHY A
EFTECELL, ZEROFIC. ZORBMAELIBTRADIR
ELCHBFEULREEW BIRA T fedheld RIIZRFLTLILE
[

o K

N R=N—FAF—F BE}EN Ty at—T A ALYy F T
LV ABBLIF LT UBRENDE—EILT T TY.

2430/1200MHz 3 3. T —RE L BELL W/ LSO TUIA1TTT
DT BT SAIZLDVSWRDZE LA DIl >TWET,

M TLOH—EHATIIEIIL) B3 /N FNDEREET:
B DOE BB TRIELAL S MO/ FTORELE D E R

TEEAERETT . ‘ I

4430/ 1200MHzizL £ —% —3d iR T,

SEROELI—EUIZII2KEX v FEBLTHIETOT . Eho
TAZRDDIEE(Z>TWET,

b mELR Y TIEBTEA D TEEANBEDOAL IR T
FFOBYSLARETY @Ry 78 %5 & L ITIL360/E
EDABENHBIUALIEET oA TEET (KB EERSE
14125708)

@7 T+ DREBBERES %

A== AF— 3 BRBIATDE—EINT T+ T B R
BOLENHLHEIIAERIvTRICBTDILAL D LT RS
AR TITVWETRABR I/ R E LA e TIT T a W,

o= = B

D REETHICEZLDBUBENHNETOTAHRIIFHLL
ToTHIZOWTUIR O T I A+ (2IT-> T3 W,

2:SGII100M/NDAIERR Y 7 2 F ANz Tr7HafEIL
FEETLB WIS+ TFEFIE N,

BEERAY T EERT2H ST A5REEET VLI CTEEL
&,

4:SGY100M/NIZ, EDBRATIBATIZL > TVSWRA T AL WS & A
HUET (144MHZ) DG EFIEEREEDRT(EDT—R % Lo
) ESTLZE W,

QEEEFRNER
TRFATERBORFREEROEPREACATE-R]EE
ga(fzan

1.5

|
§
!
|

OVSWRE

144/430/1200MHz#

@/ -/ AFES)

I T W B

] -
2 4
1260

430
144MHz

EERTL A
60101
(a1 & RE0)

1280
435
145MHz

1300
440
146MHz

LAl 8
60102 (M4x3)

TFTERIL A
60103

RSN S
60104 (M4 x4}

LAILF
60108

El#zR1y 7
60105

TyFLTE Ay
60106 (SGI100M)
60107(SG3100N)

O 1%
#118/2.15dBi(144/430MHz). 5.5dB(1 200MHz)
iif A 33 /80W(1 44MHz), 80W(430MHz), SOW( [ 200MHz), & 5tE 7780W
A2 —5R/50Q
VSWR/I.5LLF
4 £f&/0.39m
BEE/270g
A2/ MF(SGI100M)
NFZ(SGI100N)
F=t/1/4A(144MHz)
| /2X/ 2527 JL(430MHz)
5/8A2E%./ 52 7 iL(1200MHz)




BHEEOEFO &z LR BRELRETIEOLE ICAE
ENTHVETH  F—BRPOFH L IZLDWEHSHYELIZS,

BIREIZEBRLAIEEL

BT OAMBLIUNMRUI KB DIDFEULKEERTHIEN

HNEFTHTITALIZEN

SURER GAINER

2m/70cm/23cm TRI-BAND HIGH PERFORMANCE MOBILE GAIN WHIP ANTENNA - -
REPEATER FREQUENCY COMPATIBLE

FOLD OVER STRUCTURE

SG91OOM (with UHF connector)
SG91OON (with N connector)

OPERATING INSTRUCTIONS

@Description

1THE SUPER GAINER series antennas
employ our new design concept for the
mobile whip antenna which emphasizes to
go along well with recent aero- dynamic car
design.

2)Since the antenna employs radialless
structure on 70cm and 23cm bands, it
works well at virtually any place on your car
body. It can be located on trunk lid, roof
gutter or any place without effecting vswr
characteristics.

3)Three bands can be transmitted or received
simultaneously, or one band can be
transmitted while receiving other bands or
vice versa simultaneoously by using a
triplexer.

4)Repeater input/output frequencies
compatible 70cm amd 23cm bands.

5)24K gold plated center conductor is used in
connector section of the antenna.

B6)Omnidirectionary tiltable whip structure
enables the antenna to be tilted for any
direction by pulling the whip element
section lightly.
And it eliminates troublesome antenna
detatchment when your car is parked in the
garage.

@Adjustment.

THE SUPER GAINER series antennas are all
factory adjusted and do not require any
adjustment. If center frequency of the
antenna has to be altered, loosen two set
screws at the top of tiltable whip section and
put the element in and out to have best vswr
at desired center frequency. Be sure to
fasten the screws after the adjustment.

@Note

1)The set screws being used throughout the
antenna may be loosened due to the
vibration during driving, they have to be
refastened from time to time after several
drives especially the antenna is right off
from the package.

2)Do not drive the car with the antenna tilted,
since the whip element moves freely when
the antenna is tilted.

3)Be careful not to be bit your fingers into the
tiltable whip section when the antenna is
being erected.

4)The antenna bracket has to be well-
bonded to the body of your car at the
bottom of the bracket. Insufficient
grounding of the antenna through the
bracket may invites impedance mis-
matching and high vswr ratio. (2m)

@ Specifications

Gain: 2.15dBi(2m/70cm),
5.5dB(23cm)

Max.power rating:  80W(2m),
80W(70cm),
50W(23cm), -

Impedance:
VSWR:
Length:
Weight:
Connector:

Type:

80W(Sum of all bands if
operated simultaneously)
50o0hms

Less thant.5:1
0.39m(1.28")
2709(0.591bs.)

UHF male(SG9100M),

N male(SGS100N)

1/4 wavelength(2m),

1/2 wavelength radialless
(70cm)

Two 5/8 wavelength radia
lless(23cm)

@Part name (number)
60101 Upper element

60102
60103
60104
60105
60106

Set screw (M4 X 3)

Lower element

Set screw (M4 X 4)

Fold over structure section
Impedance matching section

(SG100M)

60107

Impedance matching section

(SGS100N)

60108

Hexagonal wrench

FE-BEIZAKASH BEREFHRI T3I50 BEBINEH h/ETaE ) 4451
DAI-ICHI DENPA KOGYO CO., LTD.

TEL.0492(35) 7171t
24-13, Takashimadaira 9 chome, ltabashi-ku, Tokyo. 175




